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uksV % [k.M ^v* oLrqfu"B izdkj dk rFkk vfuok;Z gSA mUgsa
mÙkj&iqfLrdk ds izFke i`"B ij fy[kk tk;sA [k.M ^c*
y?kq mÙkjh; izdkj dk vkSj [k.M ^l* nh?kZ mÙkjh; izdkj
dk gSA

Note : Section ‘A’ is Objective type and is compulsory. It
should be written on the first page of Answer-
book. Section ‘B’ is Short answer type and Section
‘C’ is Long answer type.

[k.M ^v*/Section ‘A’

cgqfodYih; iz'u
(Multiple Choice Questions)

1 . lgh mÙkj pqfu,— 1 × 8 = 8
Choose the correct answer :

(i) ,sfYdy gSykbM ij KOH dh vfHkfØ;k dgykrh gS—

(v) izfrLFkkiu (c) foyksiu

(l) ;ksxkRed (n) leko;ohdj.kA

Action of KOH on alkyl halide is known as :

(a) Substitution (b) Elimination

(c) Addition (d) Isomerisation.

(ii) lokZf/kd vEyh; gS—

(v) QhukWy (c) vkWFkksZ fØlky

(l) esVk fØlky (n) iSjk fØlkyA

Most acidic is :

(a) Phenol (b) Ortho cresol

(c) Meta cresol (d) Para cresol.

(iii) cSatksbu la?kuu esa iz;qDr ½.kk;u gS—

(v) OH– (c) CN–

(l) H– (n) X–.

The anion involved in benzoin condensa-
tion is :

(a) OH– (b) CN–

(c) H– (d) X–.

(iv) fQukWy dks lkUæ H2SO4 dh mifLFkfr esa FkSfyd
,ugkbMªkbM osG lkFk xeZ djus ij izkIr gksrk gS—

(v) cSosGykbV (c) esfFky vkjsUt

(l) fQukY¶Fksyhu (n) cSathuA
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Phenol on heating with Phthalic anhydride
in presence of concentrated H2SO4 gives :

(a) Bakelite (b) Methyl orange

(c) Phenolphthalein (d) Benzene.

(v) >C = O lewg osG dkcZu dh ladj.k voLFkk gS—

(v) sp (c) sp2

(l) sp3 (n) dsp2.

Hybridisation state of carbon in > C = O
group is :

(a) sp (b) sp2

(c) sp3 (d) dsp2.

(vi) vkblksizksfiy ,sehu gS—

(v) 1° ,sehu (c) 2° ,sehu

(l) 3° ,sehu (n) buesa ls dksbZ ughaA

Isopropyl amine is :

(a) 1° Amine (b) 2° Amine

(c) 3° Amine (d) None of these.

(vii) fuEufyf[kr esa nqcZy {kkj gS—

(v) veksfu;k (c) ,suhfyu

(l) ,sfFky ,sehu (n) esfFky ,sehuA

The weakest base amongst following is :

(a) Ammonia (b) Aniline

(c) Ethyl Amine (d) Methyl Amine.

(viii) fuEufyf[kr esa dkSu lcls vf/kd vEyh; gS—

(v) CH3COOH (c) CH3CH2COOH

(l) CH2ClCOOH (n) CHCl2COOH.

Which one of the following is most acidic :

(a) CH3COOH (b) CH3CH2COOH

(c) CH2ClCOOH (d) CHCl2COOH.

[k.M ^c* (Section ‘B’)

y?kq mÙkjh; iz'u 2×5=10

(Short Answer Type Questions)

uksV % lHkh ik¡p iz'u vfuok;Z gSaA lHkh iz'uksa esa vkUrfjd p;u
gSA iz'uksa dk mÙkj vf/kdre 75-100 'kCnksa esa fy[ksaA

Note : All the five questions are compulsory. There
is an internal choice in each question. Write
answer of the questions maximum with 75-
100 words.

1 . gqalfMdj vfHkfØ;k le>kb,A

Explain Hunsdicker Reaction.
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vFkok / Or

,sfFky DyksjkbM ls fuEufyf[kr oSGls izkIr djsaxs—

(v) ,sfFky vkblkslk;ukbM]

(c) ,sfFky ,sYdksgkWyA

How will you obtain the following from ethyl
chloride :

(a) Ethyl Isocyanide,

(b) Ethyl Alcohol.

2 . fQukWy osG vEyh; O;ogkj dks le>kb,A

Explain acidic nature of Phenol.

vFkok / Or

fXyljkWy ls fuEufyf[kr oSGls izkIr djsaxs—

(v) ,Øksyhu] (c) ukbVªksfXyljhuA

How will you obtain the following from
Glycerol :

(a) Acrolein (b) Nitroglycerin.

3 . QkesZfYMgkbM] ,slsVSfYMgkbM dh vis{kk vf/kd fØ;k'khy gS]
le>kb,A

Formaldehyde is more reactive than
acetaldehyde. Explain.

vFkok / Or

,slsVsfYMgkbM dh fuEufyf[kr osG lkFk vfHkfØ;k fyf[k,—

(v) veksfu;k (c) gkbMªsthuA

Write reaction of acetaldehyde with the
following :

(a) Ammonia (b) Hydrazene.

4 . izfrLFkkfi;ksa dk vEy dh vEyh;rk ij D;k izHkko iM+rk gS\

What is the effect of substituent on acidity of
carboxylic acids ?

vFkok / Or

fuEufyf[kr dks ,slhfVy DyksjkbM ls oSGls izkIr djsaxs—

(v) ,slhfVd ,ugkbMªkbM]

(c) ,slhVkekbMA

How will you get the following from acetyl
chloride :

(a) Acetic Anhydride,

(b) Acetamide.
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5 . ukbVªkscSathu osG fo|qr vi?kVuh vip;u dks le>kb,A

Explain electrolytic reduction of nitrobenzene.

vFkok / Or

,sfyiSGfVd ,sehu] ,SjkseSfVd ,sehu ls vf/kd {kkjdh; gS]

le>kb,A

Aliphatic amines are more basic than aromatic
amines, Explain.

[k.M ^l*/Section ‘C’

nh?kZ mÙkjh; iz'u 5×3=15

(Long Answer Type Questions)

uksV % lHkh ik¡p iz'u vfuok;Z gSaA lHkh iz'uksa esa vkUrfjd p;u
gSA iz'uksa dk mÙkj vf/kdre 200-250 'kCnksa esa fy[ksaA

Note : All the five questions are compulsory. There
is an internal choice in each question. Write
answer of the questions maximum with 200-
250 words.

1 . ,sfYdy gSykbM esa SN1 rFkk SN2 vfHkfØ;k mnkgj.k lfgr
le>kb,A

Explain SN1 and SN2 reaction in alkyl halide

giving example.

vFkok / Or

oSGls izkIr djsaxs—

(v) DyksjkscSathu ls Mh-Mh-Vh-]

(c) cSathu Mkb,stksfu;e DyksjkbM ls DyksjkscSathuA

How will you obtain :

(a) D.D.T. from chlorobenzene,

(b) Chlorobenzene from benzene diazonium

chloride.

2 . fXyljkWy dh vkWDlsfyd vEy osG lkFk fofHkUu rki ij gksus

okyh vfHkfØ;k fyf[k,A

Write down the reaction of glycerol with oxalic

acid at different temperature.

vFkok / Or

fiukdksy&fiukdksyksu iqufoZU;kl dks le>kb,A

Explain Pinacol-Pinacolon rearrangement.

3 . uksosusty vfHkfØ;k D;k gS \ fØ;kfof/k le>kb,A

What is Knovenagel reaction ? Explain its
mechanism.
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vFkok / Or

HCHO, CH3CHO o CH3COCH3 dh NaHSO3 osG
lkFk vfHkfØ;k nhft,A

Give the reactions of HCHO, CH3CHO and
CH3COCH3 with NaHSO3.

4 . fuEufyf[kr ij fVIi.kh fyf[k,—

(v) fodkcksZfDlyhdj.k]

(c) dksYcs vfHkfØ;kA

Write notes on the following :

(a) Decarboxylation,

(b) Kolbe Reaction.

vFkok / Or

fuEufyf[kr vfHkfØ;k dks iw.kZ dhft,—

(v) 
COOH

2 0 0°C|
COOH



(c) CH3COCl + CH3MgBr 

(l) 2 5
3 2

P OCH CONH 

Complete the following reactions :

(a) 
COOH

2 0 0°C|
COOH


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(b) CH3COCl + CH3MgBr 

(c) 2 5
3 2

P OCH CONH 

5 . fgalcxZ fof/k }kjk izkFkfed] f}rh;d ,oa r`rh;d ,sehu osG
feJ.k dk i`FkDdj.k oSGls djsaxs \

How mixture of primary, secondary and tertiary
amine can be separated by Hinsberg method ?

vFkok / Or

fuEufyf[kr dks oSGls izkIr djsaxs—

(v) ukbVªkscSathu ls p-,sehuks fQukWy]

(c) ,sfFky ,sehu ls ,sfFky vkblkslkbukbM]

(l) cSathu Mkbtksfu;e DyksjkbM ls isGfuy lk;ukbMA

How will you obtain the following :

(a) p-Amino phenol from nitrobenzene,

(b) Ethyl isocyanide from ethyl amine,

(c) Phenyl cyanide from benzene diazonium
chloride.

c 
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